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Př́ıklady

Najděte primitivńı funkce na největš́ım možném intervalu:

1. typ R
(
x, m
√
x + a

)
(a) f(x) =

1

x(1 + 2
√
x + 3
√
x)

.

(b) f(x) =
1−
√
x + 1

1 + 3
√
x + 1

.

(c) f(x) =
1

(1 + 4
√
x)3 ·

√
x

.

2. typ R
(
x, m

√
ax+b
cx+d

)
(a) f(x) =

√
x + 1−

√
x− 1√

x + 1 +
√
x− 1

.

(b) f(x) =
1

3
√

(x + 1)2(x− 1)4
.

(c)

∫ √
1− x

1 + x

1

x
dx

3. typ R
(
x,
√
ax2 + bx + c

)
(a)

f(x) =
x√

x2 + 2x + 4

(b)

f(x) =
1

1 +
√
−x2 + x + 2

(c)

f(x) =
1

(x− 1)
√
x2 + x + 1

(d)

f(x) =
1

x +
√
x2 + x− 1

4. Ostatńı

(a) f(x) =
1

1 +
√
x +
√

1 + x
.

(1b)t=
6√
x+1

(2a)vytkněte
√
x−1

(2b)vytkněte(x−1)2

(3a)t=
√
x2+2x+4−x

(3b)t=√2−x
x+1

(3c)t=
√
x2+x+1−x

(3c)t=
√
x2−x+1+x

(4a)t=
√
x+
√

1+x
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